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Abstract

In this paper we present and analyze a variant of the classical secretary problem: The one-shot
secretary problem with recall and uncertain employment. In this variant, our objective is still to
obtain the best candidate, but the structure varies in two important ways: When we send an offer
to a candidate, whether they accept it or not is subject to a probability ¢ that is a function of how
recently we interviewed that candidate. We may send an offer to any candidate we have seen so
far but we only have a single offer to send over the entire problem. We analyze this problem and
present the optimal policy as well as asymptotic results.

1 Introduction

The classical Secretary problem is as follows: Suppose there are N people applying for a job at a
company and each has a unique ranking v € [N]. The order in which the candidates are to be inter-
viewed is a uniformly random permutation. The candidates are then interviewed one by one. After
each interview, a candidates relative rank amongst the previously interviewed candidates is revealed.
The company can then hire them on the spot or reject them. Once rejected, the candidate cannot be
hired in the future. The company is concerned only with hiring the person with the absolute lowest
rank of the N candidates. The problem is then to determine a strategy that maximizes the probability
of hiring the absolute lowest rank candidate.

In this paper we present an interesting modification of the secretary problem. After any k of the
N candidates have been interviewed already, the decision maker may now extend an offer to any one
of the k previously interviewed candidates. But, the decision maker only has the capacity to extend a
single offer for the duration of the interview process (for fear of seeming desperate). However, there is
the additional assumption that the offer is subject to some probability of acceptance by the candidate
q(r). Here r is the number of time-periods since the courted candidate was interviewed. We make the
assumptions that ¢(0) = 1 (if the candidate is offered the job immediately after their interview, they
accept) and ¢(-) is a non-increasing function (the longer we wait to offer someone a job, they are not
more likely to accept). We will now give a full MDP formulation of our problem and then dive into
analysis.

2 Problem and Model

Let the time indices of our model be k € [N], one for each potential candidate interviewed. Our state
space be given by the pair (k,r) € Z; x Z4 where k is the number of candidates interviewed so far and
r€{0,1,...,k — 1} is the the number of interviews that have occurred since interviewing the current
relative rank one candidate. In state (k,r), we have two possible actions: send an offer the candidate
of current lowest relative rank or to not send an offer and interview the next candidate. The reward
for offering a job and the absolute lowest rank candidate accepting it is one and all other rewards are
Z€ero.



Based on this description, we can write down our value function. Let Ji(r) be defined as the
probability of obtaining the best candidate given we are in state (k,r). It is easy to reason that

In(r) =q(r).

For all other states, we have the option of sending an offer or waiting, which implies

k

Jx(r) = max {nq(r) Jr+1(0) + LJ;Hl(r + 1)} Vk € [n—1] (1)

1

"k+1 kE+1

where the first term represents sending an offer to the current relative best candidate. There is a k/n
probability that this candidate is the true best candidate and the probability they accept is ¢(r). In
the second term, we have the case that the relative best candidate is the next one interviewed and
the case where they are not, in which the relative best candidate is the same and it has now been
r + 1 time periods since they were interviewed. For the purposes of this project, we will assume that
q(r) = p” where p € [0, 1] is some constant.

The remainder of the paper will consist of presenting and proving the form of the optimal policy
based on p, deriving asymptotic policy results, and highlighting interesting numerical results that the
theory predicts.

3 Analysis

We will break our analyses into a series of cases based on the value of p. The first two analysis are
simple.

3.1 Casel: p=0

Here we have the form of our ¢(r) function is

q(r){l r=0

0 else.

In this case, we get the classical secretary problem. To see why, note that we can only ever ask
the person that was most recently interviewed (since every previous person will accept an offer with
probability p = 0), and we can only ask one person. Moreover, since our objective is to maximize
the probability of finding the overall best candidate, this is exactly the formulation of the classical
secretary problem.

It is well known that the optimal policy in the classic problem is to interview some number of
people f(N) during a “sampling phase”, and then offer the job to the next person who is interviewed
that is better than the previous best. Asymptotically, we have that f(N) — N/e and the probability
of successfully acquiring the best candidate tends to 1/e.

In Figures 1 and 2 we plot the optimal policy and the probability of winning in each state for
N = 100. Here N is large enough to see the asymptotic policy result. In figure 1 we see that the
decision maker waits until after they have observed N/e people before considering sending any offers.

3.2 Case2: p=1

The other straightforward case is when p = 1. In this case, previous candidates will always accept an
offer. The intuitive policy that comes to mind here is to wait until all candidate have been interviewed
and then offer the job to the, now revealed, best candidate. This strategy wins with probability 1. We
can show this this using Bellman’s equations (1) and induction.

Lemma 1 (Optimally of Waiting). Let p = 1 and Bellman’s equations be given by (1). Then for any
state (k,r) where k < N the optimal policy is to wait. In state (N,r), the optimal policy is to send an
offer to the candidate that was interviewed r time periods ago, which is the best candidate.



Optimal Policy with p = 0 and with N = 100
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Figure 1: The optimal policy for each state (k,r). Here a white square means to send an offer and a
black square means to wait.
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Figure 2: The the probability of winning from each state in the classic variant of the problem.

Proof. When k = N, Bellman’s equations imply that ¢(r) = p” = 1 for all r and thus Jy(r) = 1 for
all . In this case, we send an offer to the best candidate and obtain them with certainty. Now for
the inductive step. We assume that Ji(r) = 1 for all » € {0,...,k — 1}. Now suppose we are in state
(k—1,7r). We are faced with the maximization problem



k—1 1 k—1

Jk_l(r)zmax{N, —Ji(0) + 3 Jk(r—O—l)}

By our inductive hypothesis, this simplifies to

which for all r implies that the optimal policy is to wait to send an offer and that Jy_1(r) = 1
completing the proof. O

Note that lemma 1 implies that J;(0) = 1 which is the probability of obtaining the best candidate
over the entire game. We have included the experimental results that come from solving Bellman’s
equations via backwards induction for N = 100 in Figures 3 and 4. The experimental results match
those predicted by the theory and our intuition.
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Figure 3: The optimal policy for each state (k,r). Here a white square means to send an offer and a
black square means to wait. If you look closely, you can see the final row is colored in.

3.3 Case3: 0<p<l1

Now we move onto the non-trivial instances of the problem. As with most finite horizon MDP’s we
begin to analyze the problem via backwards induction. We will explicitly work out the first few cases
to give a sense of what form the optimal policy takes and then generalize and prove the results.

In the base case, we are in state (N,r) for r € {0,..., N — 1}. We have that

In(r)=p"
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Figure 4: The the probability of winning from each state in the classic variant of the problem.

for all . The intuition here is, if we have seen all the candidates, then we know where the true best
candidate is. Therefore, we send them an offer regardless of when we interviewed them. If K = N — 1,
then Bellman’s equation (1) suggests we face the optimization problem

N -1 1 N -1

I-a(r) = max { S L)+ T 1)

N-1,. 1, N-1_,
=m -y =4 .
VN PNt NP

From this, we can deduce that we will send an offer to the current best candidate if and only if

N1, 1 N-1.,

N PNt TN

which, solving for r, yields the inequality

1 1 .
r < log, (1—pN—1) =rN_1- (2)

Here r}_, is the threshold r for which we send an offer or not in state (N — 1,r), the intuition here
is that if r is too large, we are better off “being optimisitic” that the true best candidate is yet to
come and we can procure them with a high probability rather than taking a low probability shot at
the current best candidate, regardless of the large probability that they are the best candidate. What
we have shown here is that there is some threshold r for which the policy swaps from “send an offer”
to “wait”. Based on this, we have that

N-1,r r < r*
Ina(r) = { N - (3)



Now we consider the case k = N — 2. Once more, from (1) we have that

N —2 1 N -2
In—2(r) max{p” —Jn-1(0) + N_lJN—l(T+1)}

N "N -1

= N N )
= max N p,N N_1 N-1(r .

We can analyze this in two cases. The case where r < r}_; —1 and when 7 > r},_; — 1. The rationale
behind splitting our analysis into these two particular cases is that: in each, the functional form of
Bellman’s equations (1) will vary.

3.3.1 Casel: r>ry_;—1

Here Bellman’s equations give us

N —2 1 N —2
JN—Q(?") —max{pr7_1JN_1(O) + N — 1JN_1(7‘+ 1)}

N N

B N-2 1 N-2(1 N-1
TNy PN T NI\NT TN ? '

Similarly to before, we can deduce that we should send an offer to the current best candidate if and
only if

1 1
T 1— 2 > _ - -
Pa=r)z g5+ 5
which upon solving for 7 yields r < log,, (ﬁ (ﬁ + ﬁ)) How does this compare to our previous
value of 73,_;? It turns out, that for any N > 2 and p € (0,1), this is always less than rjy_;.
3.3.2 Case2: r<ry_;—1
Now the functional form of Bellman’s equation becomes
N -2 1 N

JN,Q(’I") = max {NpT7 ﬁJNfl(O) + Ni

N2 L N2 N1
TN PN T NI \UN P

W JN-2, 1 N-2 o,
= max —f+ — .
v PNt NP

:iJNl(r—i—l)}

Which as before, we can manipulate to obtain the maximum r for which we will send an offer, and
we find

“loe (L .1
T\, N2

Furthermore comparing this to (2), we can see it greater than r3_;. This implies that for all r <
ry_1 — 1, it is optimal to send an offer. Putting the results of these two cases together, we find that
the policy threshold r3,_, is given by

. 1 Lo,
N2 = T2\ N1 T N=2) )"

At this point we have a few conjectures. Firstly, we conjecture that r};_, is a decreasing sequence in

k. Secondly, we conjecture that the functional form of ry;_, is ry_, = log, (ﬁ . Zle Nl_l) Before
diving into these proofs lets look at how these conjectures hold up to a few numerical experiments (see

Figure 5).
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Figure 5: Experimental results examining at how our conjectures hold up to the exact numerical
results.

Based on these results, we have strong evidence for our conjecture that 3, = log, ( L. ZI.“ -

1-p



(a corollary of which is that r3,_, is decreasing in k) we can now turn our conjectures into propositions
and prove them! We will begin with a seemingly unrelated but helpful lemma.

Lemma 2. Let k be a positive integer less than N and o € (0,1). If p < Na+1’ then

k
1 1 1 1
1 . — 1 . 4
ng(l—p N—k>>°gp<1—pk i_lN—i> )

foralll<k<N(1-a)

Proof. Taking (4), we can exponentiate each side (p € (0,1) so the inequality flips) to obtain the
inequality

| 1
1—pk';N—z’> 1—p N—%k

Rearranging , we get
k

N oo 1-p
(N=R2 =i 1o,
i=1

We can now expand both sides since the RHS has the form of a geometric series. Now we have

N—k N —k k1

1+m+"'+m>l+p+"'p (5)

When does this inequality hold? Well we are comparing a harmonic-ish series to a geometric one,

the terms in the harmonic series ought to get smaller “slower” than the terms in the geometric series

which decay at a constant rate. By this logic, if the fist non-one term on the LHS is larger than the

corresponding term on the RHS, then every term on the LHS will be larger than its corresponding
term on the RHS and the inequality will hold. When does this happen?

We need to solve the inequality NN;L > p. Solving for k yields k < N p/(1 — p), and then

plugging in p < Na +1 implies that
this my induction on m.

> p. From here, we claim that + > p™. We can show

N k+1 k+m

We already covered the base case, so suppose # > p". Multiply both sides by p we have
N —k
> m-&-l. 6
N-k+m? P (6)
We can write
N -k B N -k _ N—k+m

N—k+ma_N—k+m+1 — T N _kim+l

Using our base case, we have p < N k+1 < NN k_’f_:{il = «. Combining this with equation (6), yields
N —k _ N—-k N -k a1

(7)

N—ktmtl N—ktm N-k+tm? P

proving the inequality (5) for p <
proof.

Noé‘i“l and since all the prior steps were reversible, completing the

O

The motivation behind this lemma is that we will have different potential candidates for r3,_, for
each k£ and this lemma will allow us to easily determine the correct value of r};_, for the relevant k.
One important observation before moving onto the main results of the paper. The lemma above was
conditioned on p < NJX <. Note that for fixed o € (0,1), for sufficiently large N, this can be made
arbitrarily close to 1. That is, if we assume NV is large then we can set « close to 0 and have the result

hold for nearly all 1 < k < N and any almost any p.

Now for another helpful lemma



Lemma 3. Letp € (0,1), N > 4 be a positive integer and 1 < k < N —2 be an integer. The function

1 S |
f(k)zlogp 1—kaN—z
=1

18 strictly decreasing in k.

Proof. We want to show that for any integral k € [1, N — 2], we have that

) Eoy k1
logp<1_pk‘;N_i>>10gp< PR ZN—@)

If we exponentiate each side we get the inequality

k+1

1 oo
1—»p ’f‘*‘l ZN—Z 1—pk.;N—i'

We can further manipluate both sides in the following ways

k+1 1 k 1
pht1 ZN ';Nfi
k+1 1 . k
(1+p+---+p’“‘1);N71 >(1+p+-~-+pk);

k k
1 |
1 k=1
(Ltpt-tp )<Zi=1N—i+N—k—1>>( T 2

k
1 1

1 k=1y___ = k
Atpt.tp )N—k—1>p;N—

k
l+p4---4p!
N-—-k-1)
LR
i+ 1 n 1>N—k—1+N k—lJr +N—k—1
pk  pk—l P N -k N-k+1 N-1

Now notice that there are k terms on either side. Each term on the LHS is greater than one since
p € (0,1) and each term on the RHS is less than one since the denominator is larger. Since each step
was reversible, the initial inequality holds and f(k) is a decreasing function, as desired. O

We will now state and prove both

e that there exists a threshold r};_, for which r <r3,_, implies the optimal action is the send an
offer to the current best candidate, otherwise the optimal action is to wait

e the functional form of Jy_(r) for relevant k.

Proposition 1. Consider the modified Secretary problem with N people and probability p € (0,1). Let

a € (0,1) and define
1 1
TN—kzlogp 1—kaN—’L . (8)
i1

If p < Nliil and 1 <k < N(1—a) then ry_, = rn—r. Moreover if TN_ks1 = 0, the functional form
of JN—k is given by
Jka(T) = {

*
r<TN_p

p
( T+k+zz 1 NS z) else. ©)

z\.z {



Proof. We will proceed by induction on k We have already seen in equation (2) that the threshold
for k =1 is given by ry_; = log, (—p ) We also found that vy, = N — 1 and that

In-1(r) = {

completing the base case. Now suppose we are given that ry_; ,; =7N_k+1 > 0 and that

" <IN
+ N+l else

z\z

(10)

2|~

N—k+1, r *
-~ P T<TN—k+1

N—k+1 (, r+k—1 k=1 1
- (p + o1 v ) else

IN—ky1(r) = {

Consider Bellman’s equations for the situation where we have interviewed N — k people. We have

N — k 1 N —k
JNk(r):max{ N TN k+1JNk+1(O)+]V_k+1JNk+1(T+1)}

Since we are given 73 _,.; > 0, then for all r then we can use our inductive hypothesis to show
that N—-k , 1 N —k
IN—k(T) ZmaX{N N +.N]€+1JN_k+1(T+1)} (11)

We now must break this into cases on 7 as we did in earlier sections. If » <7y _, ., — 1, then (11)
becomes

N —k 1 N -k

_ = —p =+ ———JIn_ 1
In-k(r) max{ N p’N+N—k+1JN k+1(r + )}

Nk 1 N—k (N—k+l .,
THEYTN Py k1 N P
1 k

N -
SN R L Nk
= max vaN Np

_|_

If we now solve for the maximum r for which the optimal action is to send an offer, we find

<log (1.1 )=
r <log, —p Nk =71.

Now, if we consider the case that » > r3_, ., — 1, equation (11) becomes

N —k 1 N —k
JIn—k(r) = max {Npra N + mJkaH(T + 1)}

k—1
B N-k 1 N—k (N-k+1{ o 1
max{ N p’N+N—k+1< N (p +;N—i
SN L Nk T+k+’“zl 1
=maxy P vty N_—i
Nk Nk +N k
=maxy P NN R N—z

N —k N —k 1
_ T r+k
max{N PN <p Jr;N—i)} (12)

Once more, if we now solve for what is the maximum r for which the optimal action is to send an offer,

we find i
r < log, ( — Z ) =rs. (13)
=1

10



Now, by lemma 2, we have that 7o < r1, which implies that the threshold for sending an offer r3,_,

exists and is given by ry_, = log, (ﬁ . Zle N1_7> as desired. It then follows from the definition

that for 0 <r < r}_, we have Jy_j(r) = XEp".

It remains to show the functional form of Jy_g(r) for r > ri_,. If we look back at Bellman’s
equation (11), we need to know what to plug in for Jy_k11(r + 1). Recall that when deriving r3_,,
we assumed r > r}k\f—k-i-l — 1. But by lemma 3 we have that r3,_, < r}"\,_kH. It then follows that for
TNk € "'N_ky1 — L, "N_py1] and therefore if r > ry_, then r >y _, | — 1. Using this we now can
use our inductive hypothesis for the form of Jy_;(r 4+ 1) and carry out the calculations we used to
get equation (12). We then have the completed functional form for Jy_g(r),

Ine(r) Nﬁkpr T <TN_j
N—k\T) = _ k
NNk (pTJrk + e NL) else.

as desired. O

To summarize what we have just done: we derived that the optimal policy has the form of a
threshold for each number of candidates interviewed for when to send an offer to the current best
candidate, we found an expression the policy thresholds 73, _,., we showed this is a decreasing function
in k, and we derived an expression for the value function Jy_g(r). We will now turn to proving some
asymptotic results before showing numerical results and concluding remarks.

4 Asymptotic Results

In the previous section we proved that these policy thresholds r3,_, are strictly decreasing in k. The
value of 7}, _,, dictates how many candidates back in time we should consider sending an offer to if they
are the best so far with 0 being the most recent. A natural question to ask is then, when is the first
time r3,_; < 0 implying for larger k, we never send an offer. This can be thought of as the “sampling”
phase as in the classic secretary problem. For the remainder of this section we will think of IV as being
arbitrarily large.

Jumping right into it, we would like to solve the inequality

k
1 1
* =1 72 14
TNk Og”(l—p’“ i_lN—z’><O (14)

Like much of the work in this paper, we will split it into cases, now based on the size of p.

4.1 Small p

If p is not too close to 1, we can use some approximations. If we exponentiate both sides of (14), we
obtain the inequality

1 G
v b (15)
=1

Now if p is not too large, then p¥ approaches zero very quickly for modestly sized k. Thus we will
approximate 1/(1 — p¥) ~ 1. We can also utilize an approximation to the harmonic series Zf\il % ~
log(N). With these two approximations, we can write the inequality as

k
1 1 N
1 : ~1-log [~
ST ;N—i °g<N—k>

which implies the inequality e < N/(N — k) which has solution

k>N<11>.
e

11




But recall that this is k& as measured from N, the number of candidates seen before any offer could
be made is N — k = N/e which is the same threshold as in the classical secretary problem!

4.2 Bigyp

If p* does not decay too quickly, meaning if p is quite close to 1, then we need to be a bit more careful
in our analysis. Starting with equation (15), and using the harmonic series approximation as before,
we have

1 1 N > 1
1—pr B\ N_%

This can be rearranged to get a similar inequality to that in the previous case

N—-k N
it (16)

Here we can see that additional influence of the p* term. If this were approximately zero, we would
recover the small p results. Unfortunately we couldn’t come up with a clean approximation for k here.
But for p large enough, we would expect the threshold k to be smaller than in the small p case. In
other words, for p sufficiently close to 1, we would expect to see the decision maker have a longer
sampling phase than the classic N/e length sampling phase. If pV is sufficiently close to 1, then we
see no sampling phase and the decision maker will wait until seeing every candidate.

We can actually determine what p needs to be for the optimal policy to have a sampling phase
that is an « fraction of all candidates (in the classical problem oo = 1/e). Let 1/e < a < 1. If we plug
in k= (1 — «)N for k in equation (16), and then solve for p, we find
log(1 +1
og(1+ oga)} (17)

p>eXp[ 1—a)N

For an example, if N = 100 and we want the optimal policy to sample o« = 1/2 fraction of the
candidates before sending an offer, we will need p to be p = exp [log(lg%m} ~ 0.976649. If we look

at Figure 6 can see this this agrees with numerical results.

One interesting further bit of analysis that we could do but will leave as a future topic is, given N,
to determine the minimum p for which the optimal sampling phase begins to deviate from the classic
1/e sampling fraction.

We will not go into an asymptotic analysis of the value function here as it is not easily approx-
imated!. We leave this as a future topic for analysis. We will see in the next section that for most
p € (0,1), the modified problem only marginally outperforms the strategy of the classic secretary prob-
lem. However, for p sufficiently large we see a dramatic improvement in the probability of obtaining
the best candidate when compared to the classic problem (see Figure 10).

5 Numerical Results

We numerically solved for the value functions and optimal policy in each state for a variety of candidate
pool size N and p € (0,1). Some cases highlighting the theoretical results can be seen below in Figures
7,8, and 9.

Based on these figures, we can clearly see that there is a threshold r}_, that is decreasing in k,
as the theory predicts. Furthermore, we see the asymptotic sampling phase threshold of N/e for the
smaller p values and then for p close to 1, we see it begin to deviate, as predicted. We also see that
the value function is increasing in each state for p, and decreasing in r, which equation (9) from the
theory predicts.

11 didn’t have enough time to do it justice
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Optimal Policy with p = 0.976649 and with N = 100
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Figure 6: The optimal policy for p = 0.976649 and N = 100.

Lastly, we will look at how the probability of ending up with best candidate J;(0) compared to the
classical secretary problem depends on p for large N. We plotted the numerical results for J;(0) for
N =50 and N = 100 below in Figure 10. We also included the numerical results from a closely related
problem: secretary problem with recall and uncertain employment. It is the same as our variant but
we now can send an offer each time period and the game ends when we an offer is accepted or we have
exhausted the candidates with no accepted offer.

We can see that in our case, unless p is sufficiently large, we only marginally outperform the optimal
policy in the classical problem. However, for large enough p, we see we can substantially outperform
the classical result. This is because we can still keep a likely best candidate in consideration longer
and still explore the space to see if something better arises.

6 Conclusion and Future Work

In this paper we looked at the one-shot secretary problem with recall and uncertain employment. We
assumed the special form of probability function ¢(r) = p”. We then looked at several cases depending
on the value of p. For p = 0 and p = 1 we found the problem either reduced to a known problem
(the classic secretary problem) or a trivial problem (wait until we see all the candidates and pick the
best). In the case of p € (0,1) we were able to show that the optimal policy has the form of: for any
N — k number of candidates seen, if the best candidate was one of the r},_, most recent candidates,
send them an offer, otherwise wait. We were then able to derive and prove an explicit form for 73, _,
based on some modest assumptions. We then derived and proved a closed form for Jy_(r), given
that we have not yet reached this policy threshold. We then moved on to analyzing each of these
components asymptotically and found an approximation for the value of k for which we should first
consider sending an offer to the current best candidate, marking the end of the “sampling phase”. For
large p this approximation is not as easily approached but we were able to determine: in order to have
a « fraction sampling phase, how big must p be? We then demonstrated empirical evidence for our
theoretical work by solving the problem exactly in Python using dynamic programming. The data
nicely supports our claims.
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Optimal Policy with N =15 and p =0.5 Probability of Obtaining Best Candidate with N = 15 and p = 0.5

-10 -10
o o
g~ 08 g~ 08
E ks E ks
Ean Euw
@ 06 0 06
Q © Q ©
k] k]
o~ 2~
26 26
8 04 8 04
b b
g 2 g 2
£= £=
ER 02 ER 02
Z o Z o
e e
= =
- 00 - 00
012 3 4 5 6 7 8 910 1 1213 14 012 3 45 6 7 8 9101 1213 14
Position of Relative Best Position of Relative Best
Optimal Policy with N =15 and p = 0.75 10 Probability of Obtaining Best Candidate with N = 15 and p 0.75 10
R 08 R
R R
E <+ E <+
Ew Ew
@ 08 @
Qo Qo
Q Q
=~ T~
2o 2o
3. 04 3.
s s
g 8 g 8
. .
E= 02 E=
Z o Z o
] ]
b1 b1
00
012 3 4 5 6 7 8 910 M1 1213 14 012 3 4 5 6 7 8 9101 1213 14
Position of Relative Best Position of Relative Best
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Figure 7: Numerically solving for the optimal policy and the value function for each state when N = 15
for several p values.

In the future, it would be interesting to find an approximation for J;(0) based on equation (9).
Also, if we look at Figure 10, in the left panel we can see there appears to be some constant offset
for the probability of success in our problem (orange line) and the classical probability (red line) for
moderately sized p. It would be interesting to investigate if this is a general trend and if so can we
approximate the offset. We would also like to explore different forms for ¢(r). While our chosen form
seemed quite natural, there may be alternative forms that give rise to interesting behavior.
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Optimal Policy with p = 0.8 and with Nl = 50 Probability of Obtaining Best Candidate with N = 50 and p = 0.8
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Figure 8: Numerically solving for the optimal policy and the value function for each state when N = 50
for several p values.
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Optimal Policy with N'=200 and p = 0.8 Pr%babimy of Obtaining Best Candidate with N = 200 and p = 0.8
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Figure 9: Numerically solving for the optimal policy and the value function for each state when
N = 200 for several p values.
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Figure 10: The probability of successfully obtaining the best candidate in each variant. The variant
we studied in this paper can be seen in orange.
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